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[ Answer Question no. One (1) ,it any four (4) from the rest I

1. Elucidate in detail about the Planning Experience of India.

2. What is economic Growth? What are the essential of economic Growth?
Mention about the structural changes of Economic Development.

3. Define Human Development. Who provided the conceptual foundation
for the Human Development Approach. Explain Human Development
in India in the light of Eight Five Year Plan.

4. What are the features of democratic socialism? Explain briefly about the
Gandhian Model of Development.

5. What is NITI Aayog? Who is the chairperson of NITI Aayog? When and
why was it created? How is NITI Aayog different from the planning
commission of India?

6. Explain about the Food self-sufficiency and Food Security in India.

7. When and why was the New Economic Policy introduced in India? Who
was the Finance Minister of India at that time? What are the objectives of
New Economic Policy?

8. Short notes (a) Social Security Measures for the Workers (b) Agricultural
Labour.
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6. Due to Economic Development the self-esteem and living standard of the
population will

a. Increase

Db. Decrease
c. Remain Constant
d. None of the above

13. India became the member of WTO in
a. 1995
b. 1996
c. 1999
d. 2000

D
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2017/06 7. The concept of Human Development was introduced by
a. UNDP
b. WHO
c. WTO
d. UAE
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Choose the correct answer from the following:

1. The Tata Institute of Fundamental Research was established in
a. 1957

Db.1958
c. 1959
d. 1960

8. The Human Development Report of 2015 was launched in
a. Addis Ababa
b. London
c. Delhi
d. Manchester

D
[ PART-A:Objective]

9. NEP stands for
a. New Economic Policy
b. New Ecological Policy
c. New Environmental Policy
d. New Economical Policy

D
2. First nuclear weapon of India was tested in

a. 1974

Db.1984
c. 1994
d. 1995

3. If gender disparity in a country is greater then the Gender-related Development
index will be

a. Greater

Db. Higher
c. Lower
d. None of the above

10. Which country is the largest producer, consumer and exporter of species in the
world

a. Iraq
b. Iran
c. India
d. Indonesia

D
11. Pradhan Mantri Fasal Bima Yojana was introduced during the Prime Ministership

of

4. In Economic Development the share of labour force in the primary sector will
a. Decrease

Db. Increase
c. Remain Constant
d. None of the above

a. Narendra Modi,
b. Rajiv Gandhi Dc. Indira Gandhi
d. I K Gujral

5. When savings are small in a country, investment will be
a. Low

Db. High
c. Big
d. None of the above

12. Blue Revolution is for integrated development and management of
a. Milk
b. Cotton
c. Fisheries
d. Silk

D

14. Among all these plans which plan is the most successful one
a. 1stFYP
b. 4thFYP
c. 7th FYP
d. 8th FYP

D



15. Gandhian approach to rural development may be labeled as
a. Idealistic

Db. Realistic
c. Practical
d. Modern
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16. During the period of 1989-91India was facing the problem of
a. Political instability

Db. Economic instability
c. Cultural instability
d. Social instability

Course :... .

17. Seed-water-fertilizer policy is also known as
a. Green Revolution

Db. White Revolution
c. Blue Revolution
d. Pink Revolution

Semester : Roll No : . _

Enrollment No : Course code : ._

18. Budget in India is divided into
a. Two parts

Db. Three parts
c. Four Parts
d. Five Parts

Course Title : . . . .. .

20. A.I.T.U.c. stands for
a. All-India Trade Union Congress

Db. All- India Traffic Union Congress
c. All-India Tiger Union Congress
d. None of the above

~ The paper contains twenty (20) / ten (10) questions.

~ The student shall write the answer in the box where it is provided.

~ The student shall not overwrite / erase any answer and no mark shall be given for

such act.

~ Hand over the question paper cum answer sheet (Objective) within the allotted time

(20 minutes /10 minutes) to the invigilator.
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19. Government imposed gift tax in
a. 1955

Db.1956
c. 1957
d. 1958
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